®

SR6EE AT 522

=

ITAZWEE SHE HER

AR, BWEICIDHERYHEL, % I
BB R AE R S R B T R o, AR
BB (177K C Y MBEELL. Mztﬂgi})iéiﬁﬂfﬁt;ﬁﬁnﬁg MAEFERHER. = 2mEk, = ERETY (p N M%a;.f:{aﬁ%b&uki&(t:m: ~ S
A ° g OKgiBELTLVET, — ° - I AHZFRDHZHA) BEE T ERE T AR RS EED ES
%[17’5152}3 L1H(LREH) N HRERAOBAEODYAATLEFROBDAAN T, i OE#(izoéfﬁf% = F(ﬁf &giﬂﬁﬂjﬁwaﬂibﬁmémﬂ'\ij%
% R 2 | % wl@al [ E w7 s R 5 T [Fw s N N HBO%E FTOT. ARETTBRIEL, 3R BRI R UK - £ E0:30~18:00 OBt E 1= E#G)?L\(,\ éi FLELOKRADHEY,
W ISE J A b o + H | /S F U X E T~ S 2=
=] e [ (o g [ & e[ ® | wligs| W oF ;E P gmﬁ 5 ES w8 AL 2 = / - RLEBuAL, REHNRESDT AN BYET
61549 b (i #k il ) ARk 1L Alige| W OF e | PE g M % E [#]E]E] ) = = _ _
Z))bQEﬁE_En_‘\ EE&‘E = 6-H:l‘1552 " ( Eﬁ:ﬂ ﬁ Eﬂi ) Fzla]l & Z] W ’% qi & /|‘$ A J:ﬁl;’yl: X I%A =
BfE 200m (981) 6 B R A RIS , _ . i G ESD
B GINZ=5 7 PR 200m (1085) 6%51555
1 BiE ey (BAfRSE) - RILTESOREE KA K B 200m (07) 6#F1558 2 .
<WEEH > C 1 % 4 i . B THE (A W) m (O B RERALTA LR S25 BREE 200m (105H)
5] . . . W, e [
B (5 - - B F X2 wIER) B . _3 757 . B 3 %10 Bk (GIN 5= 73]
SRS 1285105 AR (L WA B 5295 HR) e B (- TR : D
C1—3 2405k HE 2P LE' 12071053 B dE S 130F554) " H BT -E93BR) BIE (BE-FEE-HF-29OKR)
N Y ookl 1288585y B—1 HliE S TS 15WF304) “ e
F& ©260000 @98000 @57,000 @31,000 20,000 AR 1319005 RIHEY) 1485435 B3—10 45077 K HE s ERETES  1TH05%)
1 - = % ¥004y ¥4 350,000 @ 133,000 @ 77,000 @ 42,000 @ 28,000 S| 1405455y A FILHED) 16851857 B2—1 ST0/7RiM HUE o i
B 1 |3h/R—% 640| =t KB | L |4| 4 E;*f ;7';/*””* mn m0x [ 5] 1 heows—aoa] 530 wa = s ALk 5%) B4 290,000 @ 110,000 63,000 @ 34,000 23,000 S 1605204 4 D30,000 @ 144 FICAHE) 17535
2 (8] 2 [Frrorovan|ooo| #m B |g| s |TEE/TT —p— s Fa (% |w|s|im e (B E R a1 |vaqkas (es0| mm g |B{a| s (ARSI # K X \ fr o et el FEAERA 175507
—— % % ;g\z.;ﬁ _ len rw 2| B 2 |&rEeAfEET |540| BE #— i #| 3 ¥ 7o7 €70 — ) dmzr—as - — - g A B =X — TR B|1|[FALZ7bz—X(690| fisih  BA i B 5 F B :‘]‘/‘%‘*I—ﬁ‘/ i B
3 || 3 [5axesr— |660| mim me [B|a| 4 |[FECTET R B X R o w w 2 [&| 2| TeE7747|680| H B | 7 [FRAXFTIIE £ AL TV e xT S |oh 4 & %)
—|® 4lnmas 95 |ms wml | 5|2 3|FV/ITA 530 |[wim o B || |FEZT7Y |mok e % Al orreay | x| | 2 || 2 |[YAYFRY |690| s Rlpe| g [FBF/F——in &7
4= altogowy  |660| B m— |B|4t| 4 |FBCTET | B W £ A% 7 S AN 3| #| 3 lrr a5 |660| 8k ma |B|m|s [PEIIT 0 EE B A = S i M (0 1 5
£ | 5| 4 o yromsra|m wo»| |2 H|4 | RF—2R [560| HE FE ® #| 3 EE = B K = ' & Al ey7e—X |t g o] |5 #| 3 |va<—F |695| Bt ¥ |= p| g [T T HA A ® W
5| |5 |[AFILVY 630 |xHE & % #| 4 ﬂﬁgﬂ‘vﬁrﬁv*f\y?’ﬁg@ =% o1&l s roor g ggﬂﬁﬁ R 4| F |4 |p2FTFITY 1680 @H FE % | 6 EE;*K’M o wweE| |, x| 4 |lg—nrrr—|675| BEx B ngﬁﬂﬁi‘ CAF -
H#: X7 A% ) v 560| &H FI& L el PRE T ] - OS5 - = i3 |5 w)ervay %o BB
6 | 1| 6 [#rer=~5—|660| B 5k |2 4|4 |FESTF=I w0 wmor—s 2| %3 lamas 9w o s & m 5 |#%| 5 [7resrroor|680| mn ma | B || 7 [FRAFITT |00 amsn PN = EBt 7V R/ Jon ik £ &
% AW R %W W\ B 6 %] 6 [7VrZLZ/)— |540| FE RE ® #| 3 Bl v~ l=tr7— |k | o B % H¥k % B b @ % 5% 5 [7VUEIY |665|%45H T B2 #| 5 CE L s
7| 7 |rom 7y |630|kan Fa |B M%7 200 | B 2 & = Al THIF o kg o) 6 |#| 6 |[V-1LoxTvH|660| B —ut | 4|5 |FETANY 8 E % K e L R e - )
] % 4 H#: 77EVRT T @ & ;) 7 |=—H 540| #BE @ - i 3 A8 7o#esM— |1 g E E A#f 7revkvxs—|@s A # &) 6 [#%| 6 27 FAF 690| A& F B B 5 H¥ IYET(X | @ & 7
8 [Luk7qy7 |650| @m A |B|e| 4 PR 7T B8 T|E = A i G i K 680| Bk L | |4t| s |CMATECTT M N Ak = n¥ sk T O A )
s | 1k Bz "4 amevnxe o m ; 8|Larwsr  |sao| s —w | |w A% 7oyqesb— L B & 8 |nw G m A 7 (A= aF¥r (690 FiE BE 7 g | 5 [FEEAT/ VT~ R om %
9 [¥~E= 650 | XKk —RK 3 Bt | 4 H# #rsavBox[f I & X £ 3 |am voavesa o 5 & m 8 |FuF X7 |680( #Hf X x B 5 B¥i eo/¥~F |m w = & (K> — el H#h 7 —t—srlok & % A
% A 42014 | @ ) 9 |7vauFL YL |560| BB #X % p| g [HBAZESETIE & W 8 |k . ,@E A AL sl ) 8|77/77>7 |695| W #— i #| 5 E;;Xf/w?_% s B
8 MS . X - E Eﬁ’. ‘//V‘?‘j/ﬁ’f‘-‘:/ & H B) 9 774)—124)1: 7]\U_ 660 E ﬁj{ Eé q:h 7 EI% ;;(5“—]‘179" 0o &= = 9 ‘7‘»]j-n % e )(/T:UI/I:‘—‘ E B £ 0
" 10(747 =4 — |540| &Kk B |2 |43 Ezﬂ;%w:v_ % B B A B em | gy b 665(%kk /K |2 4|5 E’m ;Z;fi;;bj :’fw IEIES
. — ; 2 X £ 3
6471550 RS2 RIRCHIEER ! B 200m (105) 641553 — (B #  % F) 10|ZA4H 695 W YK B #| 5 Rl v 74=F4—|/n & ;;_;g);
o B GIN %70 ) H I EEfE 200m (98H) 641556 B TRAVE R AFEE B " - = HBt A% |k @ & A
3 & &5 Bk N ) B 200m (1057) 671559 IVt —r T4 TR u )
5 v . B 4 =8 B (A B 22) . M B 200m (8TF)
B (- T B T X 0555 ) <P > (e ] 3 %11 gk A =T
o B (6 3 TR - B - 20O ) B (3 . I ARSIV —T 4Va XE
D3 ik TR 12RO SRS 110255 AR (AW 2008 R) e CERTE NERE
L AE %%ﬁ@ 135%4:3863\ BA—6 330755'% = =P = 145%4:25]7 ‘fH:%’"‘ N N WY H A ?-%@9%5)
¥4 @ 260,000 @ 98 fiti ME FETEREE 134y o RS 161500) T
{ , 000 @ 57,000 @ 31,000 & 20,000 W] 1305404 He ekt 15HF134) A—2 HE v TEETEE S 1THE3S Sy
) —— - \ EHA F404y  E4 ©290,000 @ 110,000 @ 63,000 @ 34,000 () 23,000 Y6 WS 1505155) e JETeki) 1685487y A —T v —1 BUE g ”
A| 1 |wrAad 520 & AR | 9 E:ﬁj\/:;iij; f;z SRR Y 670 A s Al o= A0 %/J\ F : nﬁ];}i f& D000 @ 171000 © 99,000 ©54000  © 56,000 L] 161504y 4 850,000 @ 323,000 @ 18 FEIEHED 18TE2S5
2 |82 [/ FAA7 [520| W F— % a| g [HEEXZV20% [6R) ﬂiéz) , | = - = g 15 |z x GRS 18| 1|=Y¥T7T7y27|555( % —# i #| 3 HE*‘/“MV‘/ B RA T, 1’ Py : N L0 @ 10n00 568’000 T %%E%EZ” 181FF2557
Bk B GRS Bl 2| 747—7F 640 [ — Al 7= |K & B % Al Ve AR08 8 & N VLR | 775 B k— e L
3 |7kl 3 [w7EAHY [540| A KB " " B 7HE)avtL (¢ N 92%\) A ® % Wk A 75y 2 —F (7 IS 2| Bl 2|z HR—R |575]| W A =3 | 3 A# 2y E B & w % |6 A & & (F CIgES)
z|®H|3 T 2 w ES | 3| ®| 8 |=—uxar  |650| M WA B p| g |8 IFTT (50 @ 7 = B FA—TEr |k & % n| | 2 || 2 [|[FTT=RE | T70| sk ES Bl [FRARITIo7EE & £
4|F| 4 A/~ nms | 540| ER OB B g | 3 [FRTAVT K B £ A 7L -2k [0 3 % 30 3|#| 3 (1w |555| mik [T |43 |DEo 0 B &= Bk 7 (v 7=2% [0b & % )
% Bk v5354  |oemm mow| | 2 F| 4 |P=A771a |670| FE RE " 0| 5 [ 77 N & X = % A T NE: iR| 3 |HA&NIZ— |765| M RE 2 B 8 Al 23972020 ik i % 1§
5 |&| 5 |7Fv4z7=—H| 540 L BA i | 3 A® = xT—go kxR Z& B % Bl avvany 71 |@E B & R 4|F|4 | e rx 555| RiE =X B |l 3 H 8 ?/1/://“ L 73 - R % H 8k 4:/7“*‘/(‘:3U CEIEES)
z B &R oo ow oo | B| 5 | hIvr4 |670| i EHE 3 | 5 Al VAN T 01| KIRBRE % Bt v exa|cmn mw| | 4] T4 XV 765| ML ERA B 8 A (>7q=74— K JF A 8k
6 | 5| 6 |FLrer FH5|540| T  —t H 0 L /aa0 |7 B F A % Bl oA%77 | £ B R 5%, |5 [&x7kA~U |[555| sk FER B #| 3 B#: IxabFA | AETr—a =l B vozfd~se|(X B 5
% | ™| 3 |am erye o = | | 68| 6 [2F TR |670| Wk b K| 5 R oo [B B & o |=® Hls avsan<yy (@ % % m| | O |F| D |[YHNV/RRAES|TT0| B B Flp| g |BAC—FTT A E A
7= 795 |520| B =x [T N 7oscoi— |7 B % A £ B T G 6 [#| 6|7 ovrry |555| wk o |3 || 3 [FEIAM/TAE RO X a HEE 7V/32% R % % B
7|4 % | %] 3 | <ran s =w | 7B 7T/ o670 B B Elp|s | EF ) STCoE % Gk oFesour|@ m  m| | 6 [FK| 6 [FFTm—R | 775 &M FK Bl | g [FH 7 vad— [l & 230
8 |veso=vr  |540| &k mar | B AV T7a N B WK % Al METFIER | AL ) 7 |[=7r—v 575| mm wmE [ |a| g [IB TSRO K= £ Afk 7Av 72 (& @ &)
B 2 |53 lag varsvs e m wm 8 [wsarnz—wr|670| m ok |F || 5 |FESEA @ wmr—s T|H# = agk 37 s w | |7 |B|7[FVTA 780| B gk | |at| g |H Tk SR A dk
9 lruzsrna—7|520| wim e | B |w| 3 |FEAEFTY [ a3 8 | Bk B = LT @ w_m B 8 |svenvry |575| HE = |Bla|s BRIV B W a He 7—7 (X o & A
8 Bk — 1% S |am 2w () 9 |[NTuEZA—E—|660| HE  H ® B 4 H# AE—F7Y 3% £ & £ A Srev=x @ £ mw| |8 K| 8 |[A—v¥ruAFr—|770| ¥ —# 3 B 7 AW X5 /5(vay | M E %
10|kretenses 540 mrm  wmE | |4 3 |BETIEID @ s & A 7o/32% | % 9 |VVARZNVANYA| 555 HKig RE i #| g [FB7IVEIN- R B % B = EL B s W
5o HE Y~/ 7%\ 5w 0 8 | 10w % = Egiﬁf/*‘y A AW
6451551 ZOKYA = . VAN e Ay |5T5| WA K |2 || 3 AVEvay 7w R
ABELE B B 200m (10g) 651554 INEFE 1 /1028 BT " . . = BER e =0
3 ke (I A i B E) PR 200m (958) 6451557 Je~, EIb~, K7 BAR "
3 25 26 Pt (A G RHE) Rt EFHE 200m (95E) 6%1560 B i
B " B 4 9 PE (A HHL) BEEE 200m (105H)
BIE (B TS B - X0 % R) <S> ; . L B 3 12 BiE
e B (5 % - TN - B - X 0O K5 ) <PIEED > . . B 1
B4 %%ﬁﬁ‘ﬁ/ﬁ\ 13052045 Hd:g'ﬂ‘ﬁ%/\ " 5’]%(%3'%%&5'%?'%@5%5)
—4 BlE g EATHEA 15K7004y
N JETeAiY) 147085y  B4—3 3305AK] E . SEEERTAL O 160355
¥4 350,000 @ 133,000 @ 77,000 @ 42,000 () 28,000 o 1105 Kb ©: liti FHAE FeAEY] 15HF48%) B8 45075 HLE %< Ff%m 16173543 MEREFTAE A 1815104
Tals - - RIS £104y %4 290,000 @ 110,000 @ 63,000 @ 34,000 G 23,000 FERL] 15507 . ’ FEotHEY) 1TR5235r  B1—2 T50 K0 BUE -
FATAT 560| W WK |z |#|3 E%iﬁ;ﬁ:ﬁm é%% EEL L gl 1 eesxrdy [660] ik = E'ﬁﬁ’.?/l/:t‘/j’-j 4 290,000 @ 110,000 @ 63,000 @ 34,000 @ 23,000 SRR 17THE254y 414 D 380,000 @ 144,000 : FEIEHEE) 181083
2 |B| 2 |arhTxrr—r |540| 8K EA i #| g [F® Toommn |k B 9;; = T X % | 4 amﬁ»eyw»wa; E';) 1| @] 1 |[resvynrux|680| AL = i pr| g [FRII2Y @ s % ® 1 £ 1» KIEA o ®£o,ooo % e L
- Bl ~UZA N 2 | B 2 |F—Hr_HY= A —=—Av5a—|% Al SLARAT— (@ & 58 &) RIBAXLEZ 700 BB — BB 74717 |ax) —
3| R 3 |K7BATIY 550 kkE —F& % B 3 EER 7*‘/“71?/1%*\- ((1;) ;jmf;_ji 5 15 660| AW A g 4 e “\77/?‘/;7 (ﬂ;i jj 2 B2 |[PxR 660| BB =X i #| 5 Eiﬁy’f‘f‘:ﬂfﬁ—/{ TR B E| |5 m| g |l <—tx il % 15 |nm ﬁylbjg - (& ujm;; ,g%)\
~v BAZ s R| 3 |7TV= 640 I A = xz—nhr (g — B ) —251%20F [ = s ~N= 680| F&Z @& Ak TPIAIANE |8 MW 7
4 |#| 4 |varsnsov|ss0|ran Fa |2 H# AC—F7 > g; e S -1 Rl I PP @E f;@ 3 || 3 |romtva |660| mz mr X || 7 [FRZT A AME A i;ié Clel®lflemcar lss s
’ NEAEE T & ® QHJ)S 4 |#F| 4 vavrzs<r—|670| EX DK B #| 5 i v~ L=t 7|tk @ & | ® Yy wm =l |3 | 3 [A——7A4—|680| TH K = #| o | BB TVl @
5 (%] 5 |~exs—2r |5a0| wr om |[F AW ooy |e W f = 5 B AYYYT |k 0 a|#| 4 |kav=rr575|680| B —m | |at| 5 |EEAFII R 2 i H¥k HDAKDY  J& H i )
DB 2] 3 | qkg wrm—st | wom| | P || D [FAYTENT 650 xR E ANMNE RGN &= EL Y wr e ow| | AT 4TI e 870 RR & Byl g [FR77F77 i 5 % &
6 || 6 [ v9rs  |sa0| mm  w [B|w|s|IR0TEE R 6|k £ A A7 b B _E W 5 || 5 [*¥vuneUyF|680| sk A | J 4| 10| T ST MRER] 5 gl 5 |50y = e ™
D S — > =F ~)V % _ 1 7 Y
7|48 Z | 1| 3 | At rar—mosnlm & 1 m| | 7 w|7 ooy l670| ®  m— |B|s| s [FRED2V % E F M & B et 1 m| | O | X 8 |FATVVAA | T00| R L B #| g [ T¥HA ¥ M F %
8 |[v=175vr |s60| mE me |B A8 O=AU |k & % X = B8 FIER @ 7| 7 |zrmEver |680| mx xm B || 6 [HE AU | mrmx = BBt S AT/ VR ok by )
HE LG R TN Y 8 [~ 6601 s A |7 | ap| 4 |FEITAT0 5 B & L AT TN ) 7 (o7 670w Fa | B | 7 [DEIEML G ek
9 |7r547 540| H— 3 H# Lo M7 1Y |k & gggﬂ;) 8 |tk E | 4 Al v~/ ~F @ £ =% ﬁ; 8 |[7TTEVR/YYT| 680 EXR LB 3N 5 AEg 7L " %ﬁ; (@K e Bk vos o0 | # % )
8 | bk % )3 lamsrarrr= lom 9 |hretevrER|670| BA E % o | 5 |FB =T o) AnER 8 |k Ny § EE??‘E‘/FH* G b o) 8 [ Ry X— 705| &M FK )§ #t| 8 E%;’V Vad— I
10|=7 5 w |5 A v L=t 7 — H#h fEmEEm [ % —%yv |680| 4@ FE FEIR)—v— I8 4 = - A=Y7 I (& | )
BOPYHR & |2 |3 |nw nu 2 i: g e 4 EE HL 35 & N = — el - K R TR Uh B B ) ol#msz1v  |700| ek Fu |B|p| o [FBRAFITIIGH xmum
15 5 a 1% ElxBBEENOLEWNWESIZTE ALEELN 8 | #k —— a= il 4F/7V R @ b @R
10[z—n=vmir—|700| B # |B|at|o [FRIVAVY [ wm mw
e H¥p R—7AZ— | )

F1EERILIT—ILFETIO—2)—N\O—-JIS L HEREREEN

—F%O)iﬁ’éﬁﬁhiﬂ‘t&m%z_féiﬁ/\zw'c I<ICENIHFTS

RREVET,




